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a(b—c)=al[b+ ()]
=ab+a(-c)
=ab-ac

BT R YO WAREN)

dgaadleld 5 ¢ sb sa

(a+b)(c+td)=ac+ad+bc+bd
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(a+b)(c—d)=(a+b)[c+(d)]
=ac +a(-d) + bc+ b (—d)
=ac—ad + bc—bd

(a=b)(ctd)=[a+(=D)] (c+d)
=ac +ad + (-b)c + (-b)d
=ac +ad—bc—bd

(a=b)(c—d)=[a+(-D)][c+(-d)]
=ac +a(-d) + (-b)c + (-b)(-d)
=ac—ad—bc + bd




www.talamidi.com 23 a8 g0 (e Calall 138 Jrand &8

3
;i
tdan 5l
3(2x+3)=3x2x+3x3
=6x+9
(3x—1)x(-4)=3xx(-4)—1x(-4)
=-12x+4
(Bx—5)(x-2)=3xXxx=-3x%x2-5xx+5x%x2
=3x2-6x—5x+ 10
=3x?-11x +10
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X2+4x=xxx+x x4
=x(x +4)
a’b—ab’=ab xa—ab X b
=ab (a—->b)
X(x+2)—x-2=x(x+t2)—(x+2)
=(x+2)x—(x+2) x1
=(x+2)(x—1)

ol Galbdaid 1 : (gl pdad !

e & s a3 e ]
duald

odsa plae oy g

(a +b)?=a’+ 2ab + b?

sdaan 5 )
Ax+3)p=Lty)yroxtlixsss
2 2 2
“Lets+9
4

@ dlas ) A )




www.talamidi.com 23 a8 g0 (e Calall 138 Jrand &8

@ dlas ) A )

b Lo Jee
9x?+ 12x +4 = (3x)? + 2x3xx2 + 27
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(x—35)?=x7-2%xx%x5 + 52
=x?-10x + 25
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xX2-4x +4=x2-2Xxx2 + 22
=(x—-2)?
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(a +b)(a—b) =a’-b?
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(2x + V5) 2x—~5) = (2x)* = (N/5)?
=4x’=5
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9y 16= 3y — 47
=Gy+4)(3y—-4)






